TS SET

Notations:
1.0ptions shown in green color and with #" icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Subject Name : PHYSICAL EDUCATION
Duration: 180
Total Marks: 300
Display Marks: Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required?: No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? Yes
Change Font Color: No
Change Background Color : No
Change Theme: No
Help Button: No
Show Reports : No

Show Progress Bar : No



Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Group 1

1
51714471
0

180

No

No

300
No
Cant View

No

Paper I

517144141
1

Online
Mandatory
42

42

100

Yes

0

1
517144434
Yes

null



Question Number : 1 Question Id : 51714410654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
&m&éoém&e@ﬁ "ol ararddnin” el 3

Options :

The physical location of an institution.
;’;oé sy &8

1. %
The number of students in a classroom.
5 % S55a65) chrtgi%}t: o8y
The arrangement of furniture in a classroom.
SBKHS DESB esndY
3. ®
The overall context in which learning takes place.
4 CIALNSENY 2260 Bwdgsn S [elaleNtany

Question Number : 2 Question Id : 51714410655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Postgraduate education falls under which level of teaching?
FSEEE Dy @ HB G %;on:tfiﬁ &0EN0H

Options :



Elementary education
[ERHanE D3

Secondary education
E_':Dgéf'édﬁa Alaly

Tertiary education
v éﬁj@@ﬁj D

\Vocational education
4 % aﬁﬁ 3]655

Question Number : 3 Question Id : 51714410656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?
58S S5sst, &m@ﬂjﬁ}m S el HBNG Sgen aih ?g@{}

Options:

Virtual discussion boards
. ééﬁé@ oy ﬁﬁéoﬁr;}:n

Online chat rooms

5 % ©BOBS Fo8 Kithen



Social media platforms
sl Setigan S6%en

Face-to-face in the classroom

4 SBKS KBS Sogre S0

Question Number : 4 Question Id : 51714410657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is the primary focus of SWAYAM Prabha ?

29aDo (547 @BnE) (GrEans S\ 2B ?

Options :

Offering degree programs online.
©88:58° B seEgEsne H8TES

Providing paid specialized courses.
300D HegE Enen domEn Jcsned

2. %
Broadcasting educational content through TV channels.

3 ¢ 8 ort) oxoe Doy DAY, (Hdo Safnes
Conducting in-person workshops and seminars.
Sgohore Stnakaen, HEnen JBerodi

4. #

Question Number : 5 Question Id : 51714410658 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
©R88 HEen, HBHB eEsnen, SENPS (HArtTon B8 Guesedn

Options :

Traditional teaching methods
Foloeahy Ssar HGeen

1. F
ICT-based assessment tools

5 ICT- esprBe8 3000 DAY
Qutdated educational technologies

3 & S00T0BY Doy FoB8ESen
Non-interactive resources

4 % ‘a’naﬁéﬁéiﬂ Syatien

Question Number : 6 Question Id : 51714410659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
(D& 58858 edm

Options :



Observing and describing phenomena without intervening
éﬁééo 088 o iﬁE}E DAce HB8ed DRGs

Manipulating variables to establish cause-and-effect relationships

5 @ o8 (DR Domopredh Dogrobohi® Jemodeid Eavlet) Scsnes

Conducting surveys and interviews to gather opinions
wdgrch DESHD ﬁéé@b, z068m5en DBIerone

Analyzing historical documents and records
4 % TOEg)E dero, bsho A

Question Number : 7 Question Id : 51714410660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Post-positivism in research suggests that:
HBEEHE° By Aredded GrdoHds

Options :
Objective truths can be directly accessed without the influence of human

perception.
Qe garsd derei,dirdd (e €8 8o [De&sEore 366’35}&@.

1. %
Subjective experiences play no role in shaping research outcomes.
- 588080 Hhare Eﬂﬁééﬁ}gﬁa@ﬁ HFars ehifare aklE Gotkth

3.v¥



While objective observation is important, researchers’ interpretations also
matter.

QeyBares 5886 sy, 508550 DHBemen il araingge Hararon.

Research should solely rely on abstract theories rather than empirical
evidence.

508558 CINVARRY Lo i‘vgvgc“:’m_;',_} 58060, wo|ise ?;}mgoﬁﬁ@_;’g il
4 % OGPEHTRD.

Question Number : 8 Question Id : 51714410661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
QG5 Vo0 SS508® nRirBa0 @b

Options :

Using too many references in a paper
28 ajnéﬁa’méﬁ TPEP GTIPaPOETS) Ga)aiPiian

1. %
Quoting a source directly without citation
) o wHBpHo sor (DegEore HHD °tHe

Rewriting someone else's work in your own words
3 % add e HAD A ﬁéﬁéémﬂﬁﬁ SOA (Iecinéd

Properly citing sources to give credit to the original authors

. oden e TErHd SHhed S0 6oroohe
4,



Question Number : 9 Question Id : 51714410662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the typical order of sections in a research article?
2.8 HB8 8 ajnac}f:foéﬁ Derereen Heasreen (B50an 8.

Options :

Methods, Introduction, Results, Discussion, Conclusion, References
a’:utge‘_‘i}m, HBBAHEm, HDeren, Yy, HoHo, Ef_ia:ém

Introduction, Methods, Results, Discussion, Conclusion, References
HBBcHam, éféeiéom:u, PDaren, ), dohoD, ﬁtﬁm?ﬁm

Introduction, Conclusion, Methods, Results, Discussion, References
HBBcHEm, dwhod, égéﬁm, POaren, Y, é;gia:c‘(a@:]

Results, Methods, Introduction, Conclusion, Discussion, References
HOaeen, ﬁtge‘ﬁne_n, 2bSahen, Hwhoc, KB, ﬁ;ﬁa}a‘ﬁﬂ}

Question Number : 10 Question Id : 51714410663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments” section in a thesis?
?:mgcué aﬁéf:«:ﬁ}meﬁﬁ é@é@éﬁ} Derldn ©SH830N

Options :



To list all the references used in the research
588055680 éﬁg}é@ eflem SO DSSnd

1. %
To introduce the research methodology
5 % 588858 588 HBIScho Bsne
To acknowledge and thank individuals who contributed to the research
5888555 5%;1&33 é@éj@otﬁﬂé 1800, Hgruren dend)és
3.
To present counterarguments to the research findings
4 % $568%5% pDErer ) (HDHEreOTSHe Sfovnios
Sub-Section Number : 2
Sub-Section Id : 517144435
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 51714410664 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
K&oE: (Botd mi@id ddrardo sgrdore Q. 11:506 Q 15 D& Jsrgraron

[arahob.

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the

mansion, and behind it was a sycamore tree of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the
front door to the office of Mr. Storer. The vestibule of the house, from which a staircase
ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

2836 P66 Ging) o, Hurth wodii IHS KrsS DIBHS ¢fisko, 1700 &°
ABposatod. a6 $60b @éfe‘iﬁ Both Y Joedd By gy sob.gPSo Fwotd 58
SDered® oFrinds o) HBch HipSed EOAS and @of Jf) 3ty Bbrap
B =) o8 Tror) Darn Schi) Hodn Seoden DAY 28 &) 36 58
058 B8m0 SHre Sofod. N H08 B =NETonS’ ErES dTeDS SKE arh,
RE 28D b, SIJTEE 5555 SO Enoth e 3653;)@“0)3. 508 Hakoe
(88 ok Héy 3ndB GIoR B ([Gronoh Erows™d adEder Dison.
00688 DBSD) aakey 6I200. SAh Senden oo 50} 8 68 sheea
%o &ob.

Sub questions

Question Number : 11 Question Id : 51714410665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
SJJQE AR 8] ﬂ‘ﬂ;ﬁﬁ :ﬂa;é@r o arsh Hbatm

Options :

stately
KoDBH6.
1.4 e



in ruins
BB OING

uninhabitable
K}aﬂmﬁﬁﬁéo 506

inhospitable
4 % ©8BOSIG

Question Number : 12 Question Id : 51714410666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
EafnTale) &b Eﬁé@ém&o&

Options :

red stone
1. % o8 Teom

sand stone
. =¥ Teon

wood
Eﬁé@,

stones
U“Eﬁ;}



Question Number : 13 Question Id : 51714410667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of
e N0 B & Dol &od

Options :

grass
g

wilderness
65?55:&50

low trees
D) ey

flowering pots
arey Byotsen

Question Number : 14 Question Id : 51714410668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The staircase opened into on one side.
el 3 &) Dép &8 éﬁ:&@ﬂeﬂ.




Options :

garden

1. % e

courtyard
, % [(@rofeso

dining room

3 ¥ Hhasamer 16

office

4% sno‘jﬁg@cﬁjo

Question Number : 15 Question Id : 51714410669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The word that means- ‘wide’ in the above paragraph is
2 aoes Dol o ©go a’;ﬁgj 250

Options :

Extensive

| B

circumference
ffaé:g%”@e‘ﬁ

2. %

dimension
3 % BP0



uncommon
ChvEnEe [ v

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

3
517144436
Yes

null

Question Number : 16 Question Id : 51714410670 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in

establishing a constructive relationship

VRS oarTzol Jardiiod SHidn Jogmrd)E Somoged) DB\BSt0S®

RartChHthenoh.
Options :
positive
1 ¢ FeioEee
passive
5 % Jlepcd
reflective

L x 6B 085585 ¥rlis

retentive
4 % oedes E8 He



Question Number : 17 Question Id : 51714410671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
ARt 9T BHBaHe® (Hped ©86%50 ﬁa’)ﬁgéoé@é
Glfvtnte
Options :

stress management
2,88 JBres

listening
DVEE JFadesgo

crisis management
K:uogﬁﬁ ABeTEs

time management
2enad ABeE5ees

Question Number : 18 Question Id : 51714410672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Successful intercultural communication depends greatly, when one
other cultures.
=t ﬁoﬁg&é}@:@ &oiiéo Hon, @Deﬁé&@f}g@,& Hogres @tinbEen

Boee Frdod

Options :

praises
1 % (2808

respects
2. faigstle)

practices
LIty

helittles
Eﬁ@ Sy

Question Number : 19 Question Id : 51714410673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
3’5563 sSgghen 28 AT DPyore L, o SH Siraroeis
m&@?&é@é}, R @08 wotrth
(]
Options :

Psychological
1% BB



physical

, % &8

emotional
w.ﬁa{:ﬁéﬁ

perception

J"I'EI
4V SNIPaTR

Question Number : 20 Question Id : 51714410674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

‘Twitter' and ‘Linkedin’ are examples of media
‘ﬁé&]ﬂg’ 0Bcw '@0%5 : SrggEr8 Greietesen

Options :

social
STy

digital
&Bees

Print
s0o(Bes

Traditional
R0TPCNE DR



Question Number : 21 Question Id : 51714410675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,
Options :

| % 19020

19200

19220

21120
4. %

Question Number : 22 Question Id : 51714410676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, |, SS5G, XUD
Options :

1. % MPI



MaQl

2. %
~ NPJ

3. %
NQJ

4. ¢

Question Number : 23 Question Id : 51714410677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?

2.8 03) 6 A&’ KITE % HmR) 4567 H0A RATE eF ST
89671 §°6 T W, & 2 TAKE 0% N er 86 Tl

Options:

| 6974

, i 6794

6479

6947



Question Number : 24 Question Id : 51714410678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second numberis___

DO oL 2.7 DAIBES e ow. (e 2,563 12 DoV S,
HOSOM J0¢5e3 OO B0 AOWES NS 1:3 e26he0R. DO
QoRE_?

Options:

84

o 112

. 126

o 168

Question Number : 25 Question Id : 51714410679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

If the cost price of 16 articles is equal to the selling price of 12 articles, The gain
percentage is
16 360) 8%y ¢ 12 505 @625 HEH DSTH0 eoN®, e7e

¢

Feh0



Options :

| % 16.66%

20%

25%

33.33%

Question Number : 26 Question Id : 51714410680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Statements:

All hills are mountains.
Some rocks are mountains.
All rocks are ropes.

o8 Edcden:

FoBO) DG,
') doen b [Eren.
Conclusions:

l. All hills are ropes.

. No hill is rope.
1. Some ropes are definitely hills.

BT JTeN:

. SoBO) =T.

II. 2 §0cs S = 5.

1. Q) & ) JS0m Fodsen.

Options:



| follow

Either | or |l follow

2_ W
Il follow
3.
4 Either Il or [l follow.

Question Number : 27 Question Id : 51714410681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in
the class failed in at least one subject?

10 00 Derztend) SEKReS” TR 110 H08, HedesoS’ 120 HOA
D sHen oneair i, o Kj@&gff 30 DOO DT EeD

20NOAT . HEHBES” 05D Dsen N0 2.8 PP
OO0 LR?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

120
1.



160

3 140

4 180

Question Number : 28 Question Id : 51714410682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

How is my father’s father’'s only daughter-in-law’s brother related to me?
S 90 28RSy, 58 35038 5L arogdyo Da0e3?

Options :
Father
1. % el

Paternal Uncle

5 T‘;Jﬁﬁa&vﬁ&
Maternal Uncle

3 ¢ éﬁéjdﬁ}g
Cousin

. % K85



Question Number : 29 Question Id : 51714410683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct with reference to anumana according to
classical Indian school of logic?

P

8O ROG0H® AL @3 e85 [D5E0 BHEPTIE H0DOOOT) &
1808 &3S HBIO TR DO?

Options :

Linga/Sadhana is the middle term
DoRPSH @6 &0gls S0

Paksa is the minor term
28, e é‘.ll?ﬁcl D50

Sadhya is the major term
3 % WP @30 BHerd H%o

Hetu is the minor term
P @36 &Eécl S50
v

Question Number : 30 Question Id : 51714410684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which one of the following is true with respect to the first figure of categorical
syllogism?
5085 T0E) FncheEs @0TH H0220H0D & 1208 TBS A Hesz0?

Options :

The middle term is the subject of the major premise and the predicate of the
minor premise
D D0 VA DT [Hababho TBE) 9040 HOOL D) essd8ea

| AB0EY, |raredSo

The middle term is the predicate of the major premise and subject of the
minor premise
20658 D0 A DY) [Habdhbo TINEY (DT 365856 oDOO5D N6

, x OB0E) [rareso

The middle term is the subject of the major premise and the predicate of the
conclusion

- 0G5 DB0 OO DTN eTE0 HOGW SN0 TBE), ©0F0

The middle term is the subject of the minor premise and the predicate of the
conclusion

0E: N0 RO DY) Habdho HO0W SN0y ABwE) @0%0

4, %

Sub-Section Number : 4
Sub-Section Id : 517144437
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714410685 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
f1e0E: 180C Red 52060 Qadrerdio esdorr Q. 31 oG Q. 35 (294) ©%
QPN (POD0E.

In an University, the strength of male students is 1500, Female students is 1200
and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.
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Which of the following is the maximum?
808 ¢3S HBRN0 DO?

Options :

Number of female students in chemistry department
| % SR derrosS e dorshe Sows



Number of female students in Botany department
5 ¢ T Jeriiody Sdrer dersthe dows

Number of faculty teaching Management

, x DL DO B3DOR 53R Howdg

Number of male students in chemistry department
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Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the
fees collected are paid towards salary for the faculty?

23068 T (2Pare)2d) doriden 0% e Gr. 257,508 25,000. (e
23060 T Q(2Fr02d) aﬂéé} ZD1R e 22650 T 6r.10,000. oSedTeN
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1. 56%

L« 51%
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What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zoology and languages, after rounding off the
respective totals to nearest 1007

W oy §I ot LE4
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i flomy
1.4
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In which Department is the ratio of faculty to students, the lowest?
ETEHEIO DD VT shedr DA & V2P0 eoehser Y0P &0A?

Options:
Botany
Chengistry

2. Sl
Language

3 % CARAY

None of the above
. HE3S A B
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If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?
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ASCI| stands for ?
o). GoR.P.5.0 &b
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v American Standard Code for Information Interchange
American Standard Code for Information Interaction

American Standard Computer for Information Interchange

American Standard Computer for Institutes Interaction
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........ is a private network within an organization.
& BIDD HoPS® b (RIS IEDGY

Options :

Internet
‘|. E

Intranet

3 % Ethernet

. Hypernet
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e-Granthalaya is a digital platform developed by the ........
a-foprecir 826 308 Sairth 350
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Ministry of Education
g $00(@E0

Ministry of Finance
@gé oo (@&

Ministry of Electronics and Communication
3 v JelgelEY), ém@&éa‘i@ oolB&o

Ministry of Mines

4 % Ko oG
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RAM means ........
TPal &Mre

Options :

Random Access Memory
1.¢

Rapid Access Memory

3 % Remote Access Memory



4. * None of the above
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Which is an example of a cloud-based file storage service?
8155 706 DO o eagedSs %?T:rﬁ& 5% GoeseS?

Options :

Whatsapp

Mozilla Firefox
2. %

» Dropbox

 Instagram
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The target year for achieving the Sustainable Development Goal is...
ReBe E:-éj&'ﬁe:@ e A=Y ﬁj&?&%é Lo Bo

Options :

2025
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Which of the following statements is true about global warming?
(H%05 BBHSE® K HIDD O (HAFED HOGDHSH?

Options :

Global warming has led to large scale deforestation
(HHoS B DY BB e BN 68208

1. %

Global warming has led to a rise in the sea levels

5 o B0 ST [ 5;03}@ 25HHdes obdHoH



Global warming has led to a rapid increase in the population across
several countries

i (202003 J8 DG Bed® morer JKHod HHEOD orbH20H

Global warming has led to a huge amount of waste generation

. (5505 B g6 Eéejmv LA 08208,
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Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
e D EB%errred @Kh}éﬁ% BESED é@oﬁ} VYR fjﬁﬁﬁﬂéﬁa =
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Options:

Carbon monoxide
5?@5 SnoeenG
1. ¢ s

Carbon dioxide

5 % 590 8 ©8)6

Sulphur dioxide

3 % Senb 8 w86

Nitrous dioxide

4 % 3 5%
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The National Institute of Disaster Management (NIDM) was established

80D D) e 0 EDoDDED 36
Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options :

September 23, 2002
Qyoat 23,2002

August 14, 2001
ey 14,2001

October 16, 2003
©S2% 16,2003

August 14, 2004
@r"i‘@ﬁ 14,2004

Question Number : 45 Question Id : 51714410700 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Where was the first International Earth Summit held?
B Al) @Dﬁﬁmgécﬁj Zedpoe(id HHrado 28R “{mjrs_ao

Options :

1 % Kyoto

5 Rio de janeiro

New Delhi
3_ W

New Yark
4. %
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What do you mean by ‘Shastras’?
Fo|deen e

Options :

Creative literature
aard)E Jeardio
el =



Learned disciplines
> & BB Boleen

Imaginative

L x ST

Creative and Imaginative

4 % ﬁ&'\,ﬁﬂ‘jé_ﬁéé, éaﬁééé
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Who was the chairman of NEP 2020 drafting committee?
Q.32 2020 Snaronte @it X% ?

Options :

Kailasavadivoo Sivan

1. %
Dr. K. Kasturirangan
2.
Prof. Yaspal Sharma
3. %

Prof. G. RajaGopal
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Which of the following learning programme originated in India and is considered
as one of the oldest?

230805 (FBododiad, Horsskbmr SBKBoHaE g5 SEEDED B?
Options :

Law
a"r;gdfb GLESTY

Fine Arts
) % ©08 B¥en

Ayurveda
@Cﬁ)}éﬁgﬂﬂ

Management
NBgsTes
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Which is a solution to reduce the progress of climate change?
TERtn S5 HBI ShHoHes HBL)BE

Options:

Greenhouse Gas
DB 208 TN

1. %

Wind Power

5 @ el ¥8

Deforestation
eE38) F{}iﬂﬁéﬂé

Fossil Fuel

4 % Bewa: BOLH
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In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
R0&05TSEY) (23ghesk, @’}e,’i)é&éeﬁ 50?&@3, Ejﬁg S5, & Bl ey DG
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Options :

Resource model
1 & DB Shoear



[tinerant model

5 % airlEe Sdurae
Both Resource and Itinerant models

580 sHBaSn S Surae
3. v

Dual Teaching Model

8508 8558 B
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Who was the first Indian Woman to secure bronze medal in weight lifting in
Sydney Olympic games in 20007

Options :

MirabaiChanu

1. %

Kunjarani Devi
2. %

Neelam sett l[axmi
3. %

KarnamMalleshwari
4,
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Which country won the Hockey Champion's Trophy held in 2023 at Chennai?

Options :



China

Malaysia
2_ W

India
3.¢

Pakistan
4, %
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What is the name of the physical impairment of lack of coordination of muscle
movement that is recognized by the international Para Olympic Committee?

Options :

Xerophthalmia

Pertussis

Ataxia



Diptheria
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NCERT launched the Project Integrated Education for Disabled Children (PIED)
in collaboration with

Options :

1 % WHO
UNESCO
UNICEF

3.¢
DST

4, %
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Adapted Physical Education is to develop
Options:

The motor, physical and intellectual skills of low intelligent person

1. %
5 The motor, physical and intellectual skills of disabled person

The motor, physical and intellectual skills of Physically talented person
3. %

The motor, physical and intellectual skills of highly intelligent person
4, %
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Who composed Paralympics anthem

Options :

Thierry Darnis
1.¢

Francis Scott Key

John Stafford Smith



Thomas Backen
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How many categories of disability recognized by IPC for participation in the
Paralympics games

Options :
Ten
1.
Six
2. %
Five
Seven
4, ®
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A conceptual approach that does not hold rigidity to a single paradigm but
instead draws upon multiple theories styles or ideas to gain complementary
insight into a subject is comes under the philosophy

Options :
Eclecticism
1.4
Idealism
2. ®
Pragmatism
3. W
Realism
4, %
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The neuro transmitter released at the neuromuscular junction of a motor unit is

Options :
Glutamate
1. %
Epinephrine



Nor epinephrine

Acetylcholine
4.
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The condition of lower resting heart rate as a result of systematic training is
called as

Options :

Tachycardia

Leptocardia

2. F

Stenocardia
3_ F

Bradycardia
4. v
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Force is generated while muscle is lengthened is called as
Options :

Concentric contraction

1. =

Eccentric contractio
2. %

Isotonic contraction
3_ w

Metric contraction
4, %
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The word management was derived from

Options :

Greek



Pursian

French
3.¢

Arabic
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Unloading of oxygen from hemoglobin into active muscle thereby improving
oxygen delivery is called as

Options:

Newton effect

’|_ F
Archimedes effect
2.
Bohr effect
3.¢
Noel| effect
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The ventricular muscles accepts impulses directly from

Options :

Purkinje system
1.+

AV Node
2.
3 % SV Node
AS Node
4, ®
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POIM principle of management was given by
Options :

HaraldSmiddy
1.+



Henry Fayol

Filemon — A

Words worth
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The father of modern management is

Options :

Peter Drucker

Warren G.Bennis

Henry Fayol
3.

Ken Blancharcl
4. %
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Which of the following hormone regulates blood pressure
Options:

Aldosterone

1.9
Growth hormone
2.
Insulin
3. 4
\Vasopressin
4. %
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The instinct Theory of Aggression was advanced by

Options :

Aristotle



Plato

2. %

Descrates
3. %

Freud
4.
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Hypochondriasis is a serious illness related to

Options :
Anxiety
Aggression
2. %
Arousal
3.
Activation
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A curving of the spine that causes a bowing or rounding of the back abnormal
curve of the spine at the front is called

Options :

Lordosis
1. %

Scoliosis

3 @ Kyphosis

Somiasis

Question Number : 71 Question Id : 51714410726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The study of different aspects of ageing is called as

Options :

1. ¢



Gerontology

Chronology
2. %

Osetology
4% Odontology
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In which massage technique the beating, slapping, hacking, tapping and cupping
are included

Options :
Effleurage

1. %

) Tapotment
Friction

3.



Petrissage
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The amount of Activation required for peak performance in sports
Options:

Minimum

Optimum

Moderate

Sub Optional
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The eight stage theory of human development was given by
Options :

Segmundfreud

Robert singer

Erik Erikson
3.

Skinner
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The Greek word purging out or cleaning is used in which play theory
Options :

Surplus energy theory
1. %

Re-creative theory

Cathartic theory



Re capitulation theory
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Frankfurt plane signifies
Options :

Horizontal line of inferior orbits and superior margin of external acoustic

meatus
1.4

‘ertical line of frontal bone and mandable bone
2. %

Diagonal of maxilla bone with inferior orbits
3.

Vertical line of inferior orbits and maxillary bone margin
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3-5-2 defines which type of body structure

Options :

Ectomarphic mesomarph

1. #
5 Mesomarphic etomarph
Endomorphic mesomarph
3.
Ectomarphic endomarp
4, %
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Which muscle contract concentrically to flex the knee is
Options :

Quadriceps

Hamstring
2.



Rectus abdominus

Adductor brevis
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The arms moving away from the body from the anatomical position is

Options:
Pronation
1. =
Abduction
2.9
3 % Adduction
Supination
4, %
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The biceps curl is an example of the movement in the

Options :

Sagittal plane
1.4

Frontal plane

Transverse plane

Longitudinal plane

Question Number : 81 Question Id : 51714410736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
The things which we can control is
Options :

Limitations

Delimitations
2.



Both

None
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The pectoralis originate from sternum and inserts in the

Options:

Humerus
1.4

Radius
2. #
3 % JIna

Meta carpal
4, ®
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What causes motion of a body which is initially in the state of rest?

Options:

Force
1.9

Stability
2. %

Center of gravity

Equilibrium
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Inertia of a body is

Options:

To remain unchanged
1.+



To change continuously

2_ W
To accelerate
3. %
To decelerate
4. %
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Which is the angle of projection is most appropriate for maximum range of
projectile?

Options :
45°
1.4
40°
2. %
8]
3 % 35
30°
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A projectile is launched with an initial velocity of 20 m/sec. What is its final
velocity at the highest point of its trajectory?

Options:

20 m/s

A

10 m/s
2. =

0 mis
3. "

30 m/s
4, %
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What is the direction of frictional force against a motional object?

Options :



Opposite to the object

Parallel to the object

2. %
Perpendicular ot the object
3. #*
Inclined to the object
4. %
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Which one is the simplest form of cognition?

Options:
Sensation
1.4
Perception
2. %
Affection



Conception
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Reinforcement theory of motivation was given by
Options :

Jung

Herzberg

Skinner

Maslow
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The quick progress of learning is indicated as steep rise in the learning curve is
called as

Options :

Initial spurt
1.4

Mid spurt
2. %

Tail spurt
3, #®

End spurt
4, %
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Which of the following is a characteristic of introverts?
Options :

Enjoy being the center of attention

Have a wide circle of friends



Prefer solitude
3.

Feel energized when around the people
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Neuroticism is the personality trait characterized by which of the following

Options :
Materialism
1. =
Jingoism
2_ 2
Altruism
3. =

Emotional instability
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Which of the following skill is associated with emotional intelligence?
Options :

Tranquillizing

1. %

Cosmeticizing
2. %

Empathizing
3.

Colonializing
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Which of the following Greek philosopher believed that knowledge is acquired
through learning and experience?

Options :

Plato



Aristotle

Archimedes

Pythagoras
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The previous learning hinders the learning of another new skill refers
Options :

Negative transfer of learning
1.4

. Positive transfer of learning
e

Zero transfer of learning
3. %

Bilateral transfer of learning
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Which evaluation occurs at the end of a program?
Options :

Formative evaluation

’|. F

Placement evaluation
2. %

Summative evaluation
3. ¢

Diagnostic evaluation
4, ®
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Sociometric analysis designed and developed by Jacob Levy Moreno is primarily
associated with

Options :

Motivation



Perception

Group dynamics
3.

Attitude
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The extent to which group members are attracted to their group is known as .
Options :

Friableness

Disjointedness

Cohesiveness

Quietness
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Which of the following is a major benefit of improved flexibility due to regular
systematic stretching program?

Options :

Increased bone density

Increased cardio vascular endurance

2. %

Increased muscle size
3. %

Increased posture and symmetry
4.
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Which neuro transmitter is most commonly associated with depression?

Options :

1.



Insulin

Dopamine

3 ¢ Serotonin

Growth Hormone
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What is the name of the statutory body responsible for regulating and maintaining
standard in teacher education in India?

Options :
NCTE
1.+
AICTE
3 % TNPSC
UPSC
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In teaching physical education one credit is equivalent to
Options :

One hour of theory or one hour of practical

1. %

One hour of theory or two hours of practical
2.+

Two hours of theory or one hours of practical
3. %

Two hours of theory or two hours of practical
4, =
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The subjects that are to be compulsorily studied by the student in each semester
is called as

Options :

Elective subjects

Allied subjects

Core subjects

Associated subjects
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The totality what is to be taught in a school or college system is called as

Options :

Subjects

Syllabus



Curriculum content
3.v

Skills
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Loco motor disability is most appropriately called as

Options :
Handicapped
1. %
Differentlyabled
2. &

Cerebral palsy

Dystrophy
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A detailed plan showing the schedule of time allotment to various subjects and
activities is called as

Options :
Time table
1.4
Chart
2. %
Itinerary
3, #*
Docket
4. =
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Psycho motor domain deals with

Options :



Theoretical Skills

Memory SKills
2. #

Leadership Skills
3. %

Practical Skills
4.
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The placement of members in order on authority from the entry level to senior
executive is called as

Options :

Organizational hierarchy
1.4

Timid hierarchy

Aligned hierarchy



Nonaligned hierarchy
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Curriculum means
Options :

Subject knowledge gained by the student in a college

1. #
Marks obtained by the student in a college
2. %
Syllabus covered in a college
3. %
All the experiences that a student get in a college
4,
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Which council conducts assessment and accreditation of higher education
institution to derive an understanding of quality status of the institution?

Options :

SCERT
1. %

NCERT
2. %

NAAC
3.¢

NCTE

4, ®
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Strain is an injury that occurs in
Options :

Ligament



Tendon

2.
Muscle
3.
Bone
4, ®
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The common treatment regimen for sports injuries is

Options :

ECIR
1. #

CIRE
2. %

IRCE
3. #

RICE
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The United Nations Educational and CuluralOrgnizationhead quarters is at

Options:

Rome
1. =

New Delhi
2. %

Geneva
3_ W

Paris
4, &
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The entry of germs into drinking water or edible food causes

Options :



Decolonization

1. %

Stain
2_ W

Contamination
3. ¢

Depolarization
4, %
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Health related physical fitness variable

(i) Suppleness (if) Motor coordination (iii) Stamina
(iv) Agility (v) Metabolic fitness (vi) Power
Options :
_— (1), (i), (v)

(1), (i), (iit), (v), (vi)
2. %



(D). (i), (iv). (v). (vi)

(i), (i), (iv). (v)
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Which of the following disease is caused by various pathogenic microorganisms?
Options :

Coronary heart disease

1. %
Infectious disease
2.«
Degenerative disease
3. %
Heredity diseases
4, ®
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Irrational and very specific fears that persists even when there is no real danger
to a person are called

Options :
Anxieties
’|. F
Obsessions
2. %
Phobias
3. ¢
Mania
4. %
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False beliefs that are held even when the facts contradict them are called

Options :

Delusions



Fantasies

2. %

Hallucinations
3_ W

lllusions
4, %
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Which tendon connects calf muscles to the heel bone and used for walking,
running and jumping ?

Options :

Abductor longus tendon

1. #

Carpi ulnaris tendon
2. %

Achilles tendon
3.

Patellar tendon
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Barrow Motor Ability (GMAS) formula
Options :

2.2 (SBJ) + 1.6 (SBT) + 1.4 (ZZR) + 2.3 (WP) +1.2 (MBP) + 60 Yrds

’I. e

1.2 (SBJ) + 1.6 (SBT) + 1.6 (ZZR) + 1.3 (WP) +2.2 (MBP) + 60 Yrds
2. ®

2.2 (SBJ)+ 1.6 (SBT) + 1.6 (ZZR) + 1.3 (WP) +1.2 (MBP) + 60 Yrds
3. %

2.2 (SBJ) + 1.6 (SBT) + 1.6 (ZZR) + 2.3 (WP) +1.2 (MBP) + 60 Yrds
4. %
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The formula to collect Body Mass Index is



Options :

Weight in Kg / Height in m2

Weight in Pounds / Height in m2

2. %

Weight in Kg / Height in m
3, #®

Weight in Kg / Height in m?
4, %
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Deficiency in calcium results in

Options:

- Pellagra

5 % BeriBeri
Rickets



Xeropthalmia
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General motor ability - combination of the following

(i) Body composition (i) Motor coordination

(iii) Motor edusability (iv) Motor performance components
(v) Health related physical fithess components

Options :

(1), (i), (iif). (v)

(1), (if), (iv). (v)

2. %

(i), (i), (iv). (v)
3, #*

(i), (iii), (v)

Question Number : 124 Question Id : 51714410779 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The psychological and physiological demand placed on the body through motor
stimuli which results in improvement or maintenance of performance capacity is
known as

Options :

Fithess

Density of load |

2. %

External load
3.¢

Internal load
4, ®
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The psycho physiological reaction of sportsman to external load is called as
Options :

Frequency of load



Density of load

2. 4

Duration of load
3_ W

Internal load
4. &
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In the training process for super compensation to occur the training should beat

Options :

Optimum load

1.4

Sub load
2. %

Super maximal load
3. #®

Subpar load



Question Number : 127 Question Id : 51714410782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Speed play is also known as
Options :

Interval training

1. %
Circuit training
2. %
Fast continuous running training
3. %
Fartlek training
4. &
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The ability to change direction in space ic called as

Options :



Acceleration

1. =
Reacceleration
2. %
Agility
3.¢
Velocity
4, %
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Circuit training is an effective method for developing

Options :
Balance
’|_ e
Flexibility
2. %

Reaction time



Strength endurance
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The ability to produce a greatest possible force in a shortest possible time is
called as

Options:

Muscular endurance

1. %

Power
2.9

Speed
3. %

Flexibility
4, %
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The relatively stabilized and generalized pattern of motor control and regulation
process that enables a sports person to perform group of movement with better
quality and effort is called as

Options :
Ventilation
1. %
Radiation
2. F

Coordination

Orientation
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Which exercise uses the momentum of a moving body or part of a body to force it
beyond the normal range of motion?

Options :

. Static stretching exercise
1. %



Static passive stretching exercise

2. %

Static resistive stretching exercise
3. ®

Ballistic stretching exercise
4.
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The influence of independent variable is assessed on dependent after controlling
the influence of extraneous variable is done

Options :

Historical research

Philosophical research

Experimental research

Survey research
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From which of the following measure, the sum of deviation is always zero

Options :

Mean
1.4

Median
2.

Mode
3. %

Probable error
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In which of distribution the tail is more pronounced on the right side than it is on
the left sideso that the mean is on the right from the peak.

Options:



Null skewness

1. %

Neutral skewness
2_ w

Negative skewness
3_ W

Positive skewness
4, &
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Which measure divides the data set into ten equal parts?
Options :

Quartiles

Inter quartiles



Percentiles
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Inter quartile range on dividing by 2 results in
Options:

Standard deviation

Quartile deviation
2.

Probable error

Mean deviation
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A researcher selects a random number in a population of school bloys and then
selects every nth number from the same population to be included in the sample
and this technique is called as

Options:

Object sampling

1. %

Convenience sampling
2. *

Cluster sampling r
3. %

Systemic sampling
4.
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Measurement of height and weight in standard units are classified as
Options :

1 » Nominal data

Ordinal data



Ratio data
3. %

Interval data
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What is the value of mean in a standard normal curve?

Options:

One
’|. E

Ten
2_ W

Zero
3. ¢

Twenty
4, ®
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In which statistical process the characteristics of the population is drawn from the
characteristics of the sample

Options :

Predictive statistics

1. %
Descriptive statistics
2. %
Comparative statistics
3. %
Inferential statistics
4.+
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The supplementary materials that are presented at the end of the research report
to provide more comprehensive understanding of the research is called as

Options :

Foot notes



Tables

2. %

Graphs
3. %

Appendices
4.+
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The standardized instruments such as questionnaires, inventories and scales are
used to measure the characteristics of the people is called as

Options :
Measurement
1. =
Tests
2.
Evaluation
3. =
Adjudication
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If a test measures what it purports to measure then the test is said to be having

Options :

Reliability
1. %

Objectivity
2. %

Actability
3, *®

Validity
4.
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The ability to learn well defined motor skills quickly and easily is defined as

Options :

1.



Motor ability

Motor actuality

Motor educability
3.¢

Motor alienability
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Gonio meter is an instrument used to measure

Options:

Movement ability

Reaction ability

Agility



Flexibility
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Johnson Baskethall Throw for Accuracy test consist of rectangle in which the
middle rectangle size is

Options :

40" x 10"
1. #

20%:x 25"
2. %

40" x 207
3. %

40" x 25"
4.
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Inspection of various books of accounts by physical checking of inventory to
verify whether the organization follow the documented system of recording and
transaction is called as

Options :
Supervision
1. %
Planning
2. %
Budget
3. %
Audit
4.
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A systematic planning, implementation, monitoring and revision of all the
channels of flow of information within and between the sports organization is
called as

Options :

Sports management



Skill management

2. %

Communication management
3.

Personnel management
4, %
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The specialist involved in building and maintaining the positive image of the
organization is

Options :

Manager
1. %

Supervisor
2. %

Public relation Officer

Administrator






